
Charnela Rótula
ISO MP5

Accesorios de fijación

Serie HR
Cilindros Hidráulicos ISO 6020/1

Ø ØMM A CX B ØD ØDA EE EX EP KK LT MS NV PJ VE WF Y XO

25
14 16

12 32 56 35 1/4"G 12 10,6
M12x1,25

20 16
12

77 15 28 58 17818 16 M12x1,25 1518 M14x1,5

32
18 18

16 40 67 42 3/8"G 16 14
M14x1,5

28 20
15

89 19 32 64 20622 18 M14x1,5 1722 M16x1,5

40
22 22

20 50 78 50 1/2"G 20 18
M16x1,5

35 25
17

97 19 32 71 23128 22 M16x1,5 2228 M20x1,5

50
28 28

25 60 95 60 1/2"G 25 22
M20x1,5

44 32
22

111 24 38 72 25736 28 M20x1,5 2836 M27x2

63
36 36

32 70 116 73 3/4"G 32 27
M27x2

55 40
28

117 29 45 82 28945 36 M27x2 3645 M33x2

80
45 45

40 85 130 95 3/4"G 40 35
M33x2

70 50
36

134 36 54 91 33256 45 M33x2 4656 M42x2

100
56 56

50 106 158 115 1"G 50 40
M42x2

81 63
46

162 37 57 108 39570 56 M42x2 6063 M48x2

125
70 63

63 132 192 145 1"G 63 52
M48x2

91 80
60

174 37 60 121 42890 63 M48x2 7585 M64x3

160
90 85

80 160 232 185 1 1/4"G 80 66
M64x3

121 100
75

191 41 66 143 505110 85 M64x3 9095 M80x3

200
110 95

100 200 285 230 1 1/4"G 100 84
M80x3

149 125
90

224 45 75 190 615140 95 M80x3 120112 M100x3

250
140 112

125 250 365 298 1 1/2"G 125 102
M100x3

203 160
120

290 64 96 205 773180 112 M100x3 160125 M125x4

320
180 125

160 320 450 368 1 1/2"G 160 130
M125x4

242 200
160

358 71 108 250 930220 125 M125x4 200160 M160x4


